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Ableitungsfunktion f

Funktion f

Stammfunktion F

1| /(x) =108(5-3x) F(x)=-12(5-3x) F(x)=(5-30)*+C 4
2 | —12Q2x-1)7 +96x7(2x* —1) _ -l _ 3 4
f'(x)= T f(x) e F(x) o€
3 2 41— x? f(x) = X F(x)=+x>+1+C 4
, x2 +1 \/xz +1
S1x)= x* +1

4 | f'(x)=—-4sin(2x— 1)

f(x)=2cos(2x—1)

F(x)=sin2x—7)+C 4

5 | f'(x)=—2cos(1-x)

£(x) = 2sin(l - x)

F(x)=2cos(1-x)+C 4

6 | f'(x)=—sin(2x+1)

f(x)= lcos(2x +1)

F(x) = %sin(2x +)+C

! o F(x)=xV3x+2+C 4
W +2 - Bx+2 N
f'(x) = . T e N v \/m
24/3x+2 12x+38
— (3 4
° f1(x) = 6x/x + 3xx :\/:1 f(x)=3x" x+(x3+1)ﬁ F(x)=(" +DVx+C
AT PGk 20 .- C2k =T YR B S Fx)=——+C 4
(x> +2)* (> +2)° =
10 ;
f(x)_—
" fy(x):—)c3sin)c—2x2 cosx +2xsin x F(x):Sinx+C 7]
x* fx) = XCOSX —sinx
12 f'(x)—_2)C(x+1)2_4(_x2Jrl)(?“rl)3 f(x)—_x2+1 F) X o 4
j (x+1)° C(x+1D? (x +1)2
1 ()= o =x" 2n+1 4
3 f(x) 2nx f(x) X F(x)_z)cn+1+c
Hrw=me 1oy 4
S'(x)= > X F(x)—z_l_

=g




15 —3(-n+1 “n 3n-3 —n+2 4
fi =D 3 ; F(x)=-2
2 2x f(x)=- 2(-n+2)
2x""
16| f'(x) =—2sinx+cosx F(x)=2sinx—cosx+C |4
f(x)=2cosx+sinx
17 —24 12 4
S = 6 6 F(x)=——+C
X f@) =~ -— x
X - X
Summe |68
Note
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